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fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 50 cgqi;kZ; iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-
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1. The following are considered as

assumptions to the study of Strategic

Studies :

(1) Realist approach

(2) Normative approach

(3) Ethical neutrality

Answer :

(A) Only (1) is correct

(B) Only (2) is correct

(C) Only (1) and (3) are correct

(D) All three are correct

1. lkefjd 'kkL=kP;k vH;klkr [kkyhy x`fgrs

?ksryh tkrkr %

(1) okLrooknh n`"Vhdksu

(2) ewY;y{kh n`"Vhdksu

(3) uSfrd rVLFkrk

mŸkj %

(A) dsoy (1) cjkscj vkgs

(B) dsoy (2) cjkscj vkgs

(C) dsoy (1) o (3) cjkscj vkgsr

(D) loZ rhu cjkscj vkgsr

Defence and Strategic Studies
Paper II

lkefjd v/;;u
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question

carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k iÈkkl (50) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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2. Liddell Hart’s definition of strategy

that focuses on application of

military recoveries for political

objectives implies :

(1) It is applicable in peace time

and war

(2) It subordinates war to politics

(3) War is functional

(4) The politician must be in

control of war

Answer :

(A) Only (1) and (2) are correct

(B) Only (1) and (3) are correct

(C) Only (1), (2) and (3) are correct

(D) All the four are correct

3. A nation state has the following

features :

(1) People

(2) Sovereign Government

(3) Territory

(4) Religion

Answer :

(A) Only (2) and (3) are correct

(B) Only (1), (2) and (3) are correct

(C) Only (2), (3) and (4) are correct

(D) Only (1) and (3) are correct

2. fyMsy gkVZ ;kaph j.kuhfrfo"k;d O;k[;k ftpk

jks[k gk ^jktdh; mfÌ"VkalkBh y"djkpk okij*

gk gksrk] gs lwfpr djrs %

(1) R;kpk okij 'kkarrsP;k rlsp ;qºkP;k

dkykar dsyk tkrks

(2) ;qºkyk jktdkj.kkis{kk nq∏;e LFkku

(3) ;qºk gs dk;kZRed vkgs

(4) ;qºkoj jktdh; usR;kaps fu;a=.k vlys

ikfgts

mŸkj %

(A) dsoy (1) o (2) gs cjkscj vkgsr

(B) dsoy (1) o (3) gs cjkscj vkgsr

(C) dsoy (1), (2) o (3) gs cjkscj vkgsr

(D) loZ pkjgh cjkscj vkgsr

3. jk"V™ jkT;kps ladYius e/;s gs ?kVd vkgsr %

(1) turk

(2) lkoZHkkSe ljdkj

(3) izns'k

(4) /keZ

mŸkj %

(A) dsoy (2) o (3) cjkscj vkgsr

(B) dsoy (1), (2) o (3) cjkscj vkgsr

(C) dsoy (2), (3) o (4) cjkscj vkgsr

(D) dsoy (1) o (3) cjkscj vkgsr
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4. The concept of comprehensive

security is :

(A) State-centric

(B) Welfare-centric

(C) Development-centric

(D) People-centric

5. The following are some of the

important elements of deterrence :

(1) Communication

(2) Capability

(3) Credibility

(4) Rational calculation

Answer :

(A) Only (1) and (3) are correct

(B) Only (1), (2) and (3) are correct

(C) Only (1) and (4) are correct

(D) All the four are correct

4. loZlekos'kd lqj{kk gh ladYiuk %

(A) jk"V™&jkT;dsafÊr vkgs

(B) dY;k.kdkjh vkgs

(C) fodkldsafÊr vkgs

(D) tudsafÊr vkgs

5. izjks/kukps gs dkgh egRokps dkjd vkgsr %

(1) lalwpu

(2) {kerk

(3) fo'oklgrkZ

(4) rkfdZd fu.kZ; {kerk

mŸkj %

(A) dsoy (1) o (3) cjkscj vkgsr

(B) dsoy (1), (2) o (3) cjkscj vkgsr

(C) dsoy (1) o (4) cjkscj vkgsr

(D) ojhy loZ pkj cjkscj vkgsr
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6. The failure of the League of Nations

can be attributed to :

(A) The failure of balance of power

(B) The failure of collective security

(C) The failure of deterrence

(D) The failure of brinkmanship

7. The concept ‘‘balance of terror’’ came

into use after :

(A) The Hiroshima, Nagasaki

bombing

(B) The Korean war

(C) The Soviet Union’s nuclear

testing

(D) The success of Soviet Sputnik

8. An agreement by all nations to

automatically punish the aggressor

is referred to as :

(A) Balance of power

(B) Common defence

(C) Deterrence

(D) Collective security

6. jk"V™la?kkps vi;'kkps gs dkj.k gksrs %

(A) lŸkk larqyukps vi;'k

(B) lkeqfgd lqjf{krrsps vi;'k

(C) izjks/kukps vi;'k

(D) lhekarkforhZrsps vi;'k

7. Hk; larqyu gh ladYiuk ·k ?kVusuarj iq<s

vkyh %

(A) fgjksf'kek o ukxklkdh ojhy ckWEc gYyk

(B) dksfj;u ;qº

(C) lksfOg,r jf'k;k ;kaP;k vkf.od pkp.;ka&

uarj

(D) lksfOg,r jf'k;kP;k LiqVfudP;k ;'kLoh

mM~Mkukuarj

8. vkÿed jk"V™kfo#º loZjk"V™kauh vkiksvki

,df=r ;s.ks R;kyk vls lacks/krkr %

(A) lŸkk larqyu

(B) leku lqj{kk

(C) izjks/ku

(D) lkeqfgd lqj{kk
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9. Young husband expedition is

associated with the following

region :

(A) Afghanistan

(B) Tibet

(C) Kosovo

(D) Arunachal Pradesh

10. Match the following and select the

correct answer from the codes given

below :

      List I            List II

(1) Alfred Mahan (i) Importance of

air power

(2) Douhet (ii) Need for a

cadre army

(3) Bugeaud (iii) Importance of sea

power

(4) Frunze (iv) Colonial warfare

Codes :

(A) (1)—(iv), (2)—(i), (3)—(ii),

(4)—(iii)

(B) (1)—(iii), (2)—(i), (3)—(iv),

(4)—(ii)

(C) (1)—(ii), (2)—(iii), (3)—(i),

(4)—(iv)

(D) (1)—(iii), (2)—(iv), (3)—(i),

(4)—(ii)

9. ;ax glcaM eksfge ·k {ks=klaca/kkr gksrh %

(A) vQxkf.kLrku

(B) frcsV

(C) dkslksOgks

(D) v#.kkpy izns'k

10. tksMÓk ykok vkf.k ;ksX; mŸkj [kkyh fnysY;k
ladsrke/kwu fuoMk %

      lwph I                 lwph II

(1) vYQsZM egku (i) gokbZ lkeF;kZps

egRo

(2) MÓqgs (ii) dsMj y"djkph
jpuk

(3) C;qxkWM (iii) lkxjh lkeF;kZps

egRo

(4) ›wU÷;s (iv) olkgroknh ;qº&

iºrh

ladsr %

(A) (1)—(iv), (2)—(i), (3)—(ii),

(4)—(iii)

(B) (1)—(iii), (2)—(i), (3)—(iv),

(4)—(ii)

(C) (1)—(ii), (2)—(iii), (3)—(i),

(4)—(iv)

(D) (1)—(iii), (2)—(iv), (3)—(i),

(4)—(ii)
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11. SALT agreement refers to :

(A) deployment of anti-ballistic

missiles

(B) confidence building measures

(C) military activity in outer space

(D) nuclear free zones

12. Liddell Hart’s concept of strategy

called for :

(A) an indirect approach to weaker

the enemy prior to war

(B) a mechanised attack to destroy

enemy defences

(C) the use of air power to target

the enemy

(D) a reassessment of British

colonial war policies

11. SALT le>ksrk ·k lanHkkZr gksrk %

(A) {ksi.kkL=fojks/kh 'kL=kaph rSukr

(B) fo'okl fuekZ.k dj.;kÚ;k ;kstuk

(C) ck· vodk'kkrhy y"djh gkypkyh

(D) vkf.od 'kL= fojfgr {ks=

12. fyMsy gkVZ ;k aP;k j.kuhfrpk jk s[k gk

gksrk %

(A) ;qº 'kq# gks.;k vk/kh 'k=qyk dedqor

dj.;kph ^^vizR;{k ;kstuk**

(B) 'k=qP;k laj{k.kkRed ;kstsoj ;kaf=dh

gYyk

(C) 'k=q fo#º gokbZ gYyk dj.ks

(D) fczVups olkgroknh ;qºkP;k /kksj.kkpk

iqufoZpkj
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13. Who opined that ‘‘there is no single

cause for war, peace is an

equilibrium among many forces’’ ?

(A) Quincy Wright

(B) Clausewitz

(C) Jomini

(D) Napoleon

14. The international society

approach :

(1) believes in the existence of a set

of rules, legal and morals

(2) accepts the utility of force

(3) promotes disarmament

Answer :

(A) Only (1) is correct

(B) Only (1) and (3) are correct

(C) Only (3) is correct

(D) Only (1) and (2) are correct

13. ^^;qºkps dks.krsgh ,d dkj.k ukgh] 'kkarrk

gh vusd ?kVdkaP;k lerksykoj voyacwu

vkgs-** gs fo/kku ;kaps vkgs %

(A) fDoUlh jkbZV

(B) DykW>foV~t

(C) ;ksfeuh

(D) usiksfy;u

14. ^^vkarjjk"V™h; lekt** fopkj izokg %

(1) fu;e] dk;nk vkf.k uSfrdrsoj fo'okl

Bsorks

(2) cˇkph mi;qDrrk ekU; djrks

(3) fu%'kL=hdj.kkyk izksRlkgu nsrks

mŸkj %

(A) dsoy (1) cjkscj vkgs

(B) dsoy (1) o (3) cjkscj vkgsr

(C) dsoy (3) cjkscj vkgs

(D) dsoy (1) o (2) cjkscj vkgsr
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15. Insurgency is a :

(A) form of asymmetric warfare

fought across the border

(B) form of asymmetric warfare

fought within the boundaries of

the state

(C) form of information warfare

(D) form of cold war

16. SALT I and II are examples of :

(A) Disarmament

(B) Arms trade

(C) Arms control

(D) Arms proliferation

17. ‘Al-Fatah’ is a group operating in :

(A) Ireland

(B) Palestine

(C) Latin America

(D) Afghanistan

15. foIyo %

(A) lhesifydMs dsysyh leizekf.kr ulysyh

;qºiºrh vkgs

(B) lhekarxZr vlysyh leizekf.kr ulysyh

;qºiºrh vkgs

(C) lqpuk ;qºiºrhpk izdkj vkgs

(D) 'khr ;qºkpk izdkj vkgs

16. SALT I o II gh ·kph mnkgj.ks vkgsr %

(A) fu%'kL=hdj.k

(B) 'kL=kapk O;kikj

(C) 'kL= fu;a=.k

(D) 'kL=kapk izlkj

17. ^^vy Qrkg** xV ;sFks dk;Zjr vkgs %

(A) vk;y±M

(B) iWysLVkbZu

(C) nf{k.k vesfjdk

(D) vQxkf.kLrku
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18. Unification of East and West

Germany represents a success of :

(A) Fundamentalism

(B) Nazism

(C) Nationalism

(D) Separatism

19. Which one of the following is

considered the backbone of

armaments ?

(A) Military industrial complex

(B) Foreign currency reserve

(C) Strategic materials

(D) Skilled labour

20. ‘Star war’ was the nick name for the

older version of :

(A) National missile defence

(B) World Wide TV transmission

(C) Inter-planetary radiation

(D) Debris falling from planets

18. iwoZ o if'pe teZuhps ,df=dj.k gs ·kps

;'k vkgs %

(A) ewyrRookn

(B) uk>hokn

(C) jk"V™okn

(D) QqVhjokn

19. [kkyhyiSdh d'kkyk 'kL=kL=kpk d.kk ekuyk

tkrks \

(A) y"djh m|ksx lewg

(B) ijdhpyukpk lkBk

(C) lkefjd lk/ku lkexzh

(D) dq'ky dkexkj

20. ^^rkjkaxu ;qº** gs Vksi.k uko iwohZ ·kyk okijys

tk;ps %

(A) jk"V™h; {ksi.kkL= laj{k.k O;oLFkk

(B) nwjfp=ok.khps txHkj iz{ksi.k

(C) vkarjxzg fdj.kksRlo

(D) xzgko:u iM.kkjs rqdMs
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21. ^^vjc fLiz ax** ph ÿkarh izFke ;sFks lq:

>kyh %

(A) bftIr

(B) V~;qfufl;k

(C) fyfc;k

(D) lhfj;k

22. mŸkj&nf{k.k laoknkph ekx.kh gh ·k ?kVusph

izfrfÿ;k ekuyh tkrs %

(A) uoh tkxfrd vFkZO;oLFkk

(B) tkxfrd O;kikj la?kVusph venkuh

(C) vkf.od 'kL= fu;a=.kkph venkuh

(D) 'khr ;qºkph lekIrh

23. Hkkjrkr mtsZpk lokZr egRokpk Úksr gk

vkgs %

(A) vkf.od

(B) vikjaikfjd

(C) ck"i

(D) ty

21. ‘Arab spring’ began with a

revolution in :

(A) Egypt

(B) Tunisia

(C) Libya

(D) Syria

22. The demand for North-South

dialogue was a reaction to :

(A) New International Economic

Order

(B) World Trade Organization

Regime

(C) Non-Proliferation Regime

(D) End of the Cold war

23. The major source of energy

generation in India is :

(A) Nuclear

(B) Non-conventional

(C) Thermal

(D) Hydel
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24. The first medium range missile of

India is :

(A) Agni

(B) Akash

(C) Prithvi

(D) Nag

25. Pakistan has neutralized India’s

conventional military superiority

by one of the following

factors :

(A) Alliance with USA

(B) China’s military supplies

(C) Seeking support from Islamic

countries

(D) Developing nuclear capability

26. Indonesia was the colony of :

(A) UK

(B) France

(C) Holland

(D) USA

24. Hkkjrkrhy ifgys e/;e iY;kps {ksi.kkL= gs

gksrs %

(A) vXuh

(B) vkdk'k

(C) ìFoh

(D) ukx

25. HkkjrkP;k ikjaikfjd y"djh ojpLokyk fu"Qy

dj.;klkBh ikfdLrku ;kpk okij djrs %

(A) vesfjds cjkscj le>ksrk dj.ks

(B) phudMwu y"djh lkexzh feyfo.ks

(C) bLykfed jk"V™kadMwu ikfBack feˇfo.ks

(D) vkf.od {kerk fodflr dj.ks

26. baMksusf'k;k gh ;k ns'kkph olkgr gksrh %

(A) fczVu

(B) ›kUl

(C) gkWyaM

(D) ;q-,l-,-
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27. The Falkland War (1982) involved

the following countries :

(A) Argentina—Chile

(B) US—Cuba

(C) Spain—Argentina

(D) Britain—Argentina

28. CIS emerged after :

(A) End of British colonialism

(B) Dissolution of Warsaw Pact

(C) Disintegration of Yugoslavia

(D) Disintegration of the Soviet

Union

29. One of the following countries does

not belong to the Central Asian

region :

(A) Kazakhstan

(B) Uzbekistan

(C) Kyrgyzstan

(D) Kurdistan

27. QkWdyaM ;qºkr (1982) [kkyhy jk"V™kapk

lekos'k gksrk %

(A) vts±fVuk—fpyh

(B) vesfjdk—D;qck

(C) Lisu—vts±fVuk

(D) fczVu—vts±fVuk

28. CIS ph fufeZrh ·k ?kVukuarj >kyh %

(A) fczfV'k lkezkT;oknkuarj

(B) okWjlk djkjkP;k lekIrhuarj

(C) ;qxksLykfOg;kP;k fo?kVukuarj

(D) lksfOg,r jf'k;kP;k fo?kVukuarj

29. e/; vkf'k;k;h izns'kkar [kkyhyiSdh ,dk

jk"V™kpk lekos'k gksr ukgh %

(A) dk>kdLrku

(B) m>csdhLrku

(C) dkfxZ>Lrku

(D) dqfMZLrku
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30. ckrE;ke/;s mYys[k dsyk tkr vlysyk rgfjj

pkSd gk ;k ns'kkr vkgs %

(A) VÓwfuf'k;k

(B) flfj;k

(C) ;sesu

(D) bftIr

31. iqjoBk lk[kyh gk ;kaP;krhy nqok vkgs %

(A) ;qºkP;k {ks=kr lk/kus o lkeqxzhpk

okij

(B) uSlfxZd lk/kus o m|ksx

(C) m|ksx o cktkj

(D) cktkjisBh; eky o xzkgd

32. ^^okaf'kd lagkj** gk 'kCn iz;ksx gÓk la?k"kkZ

ckcr okijrk xsyk %

(A) frcsV

(B) ckWfLu;k

(C) lksekfy;k

(D) bfFkvksfi;k

30. Tahrir square that came in the news

is in :

(A) Tunisia

(B) Syria

(C) Yemen

(D) Egypt

31. Supply chain is a link between :

(A) Resources and consumption of

material by men in the theatre

of war

(B) Natural resources and industry

(C) Industry and market

(D) Market goods and consumers

32. The term ‘‘ethnic cleansing’’ was used

to describe the crisis in :

(A) Tibet

(B) Bosnia

(C) Somalia

(D) Ethiopia
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33. The following are examples of third

party diplomacy :

(1) Good offices

(2) Mediation

(3) Conciliation

(4) Arbitration

Answer :

(A) Only (2), (3) and (4) are correct

(B) Only (2) and (3) are correct

(C) Only (1) and (4) are correct

(D) All are correct

34. Peacekeeping is not mentioned in

the UN Charter. It was introduced

as a concept within the Chapter VI

of the UN Charter by :

(A) Dag Hammarskjold

(B) U-Thant

(C) Boutrous Boutrous Ghali

(D) Kofi Annan

33. [kkyhy izdkj gs r`fr; i{kh; jktu;kph

mnkgj.k vkgsr %

(1) lRiz;kl

(2) e/;LFkh

(3) lesV

(4) yokn

mŸkj %

(A) dsoy (2), (3) o (4) cjkscj vkgsr

(B) dsoy (2) o (3) cjkscj vkgsr

(C) dsoy (1) o (4) cjkscj vkgsr

(D) loZ cjkscj vkgsr

34. la;qDr jk"V™kaP;k lunsr 'kkarrk j{k.kkpk mYys[k

ukgh- ·k lunsP;k lgkO;k Hkkxkr gÓk

ladYiuspk lekos'k ;kauh dsyk %

(A) nkx gWej'khYM

(B) m FkkaV

(C) cqV™l cqV™l ?kkyh

(D) dksQh vUuku
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35. Who amongst the following

advocated that ‘‘under certain

circumstances, it is preferable to act

violently than not to act at all’’ ?

(A) Eisenhower

(B) Mahatma Gandhi

(C) Margaret Mead

(D) Jawaharlal Nehru

36. The Geneva conventions and their

additional protocols are at the core

of :

(A) International humanitarian law

(B) International law

(C) Municipal law

(D) Law of celestial bodies

35. ^^dkgh fof'k"V ifjfLFkrhr dkghp u dj.;k&

is{kk fgalkRed dkjokbZ dj.ks ijoMsy**µ

gs fo/kku dks.kh dsys \

(A) v;>sugksoj

(B) egkRek xka/kh

(C) ekxkZjsV ehM

(D) tokgjyky usg:

36. ftfuOgk ladsr vkf.k R;kps vfrfjDr eqÌs

·k pk xkHkk vkgsr %

(A) vkarjjk"V™h; ekuorkoknh dk;nk

(B) vkarjjk"V™h; dk;nk

(C) jk"V™h; dk;nk

(D) vodk'khr ?kVdkackcr dk;nk
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37. The main thrust of Gujral doctrine

is :

(A) Developing confidence building

measures with China

(B) Non-reciprocal relations with

South Asian Neighbours

(C) Dialogue with Pakistan

(D) India’s nuclear doctrine

38. Confidence Building measures

started with :

(A) Helsinki Agreement, 1975

(B) SALT I, 1972

(C) Camp David Summit, 1959

(D) Khrushchev’s visit to Belgrade,

1955

39. The concept of ‘Clash of Civilization’

was expounded by :

(A) Francis Fukuyamah

(B) Samuel Huntington

(C) Edward Said

(D) Hans Morgenthau

37. xqtjky /kksj.kkpk eq[; eqÌk gk gksrk %

(A) phu cjkscj fo'oklo/kZd ;kstuk vk[k.ks

(B) nf{k.k vkf'k;kbZ jk"V™kaP;k njE;ku ijLij&

laca/k Bsorkuk vis{kk u dj.ks

(C) ikfdLrku cjkscj laokn

(D) Hkkjrkps vkf.od /kksj.k

38. fo'oklo/kZd ;kstukaph lq#okr ;sFks >kyh %

(A) gsyfladh djkj] 1975

(B) SALT I, 1972

(C) dWEi MsfOgM f'k[kj ifj"kn] 1959

(D) [kz'pso ;kaph csyxzsMyk HksV] 1955

39. ^^laLœfru e/khy la?k"kZ* gh ladYiuk ;kauh

ekaMyh %

(A) ›kfUll QqDq;kek

(B) lkE;qvy gafVaxVu

(C) ,MoMZ lSn

(D) gkWUl ekWjxWUFkk≈
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40. Which of the following is not a

principle of ‘Panchasheel’ ?

(A) Mutual respect for each other’s

territorial integrity and

sovereignty

(B) Non-aggression

(C) Non-interference in each other’s

internal affairs

(D) World peace

41. The strategically significant

Chabahar region is located in :

(A) Iran

(B) Pakistan

(C) Afghanistan

(D) Aksai China

42. Zeppelin was a :

(A) Airship designed by Britain

during the first world

war

(B) Airship designed by Germany

during the first world

war

(C) A U Boat used by Germans

(D) A Polaris class submarine of the

US

40. [kkyhyiSdh dks.krs rRo ^^iap'khy** e/;s

uOgrs \

(A) ,desdk aP;k jk"V ™ h; ,dkRerk o

lkoZHkkSeRok ckcr vknj

(B) vkÿe.k u dj.ks

(C) ,desdkaP;k varxZr O;ogkjkr gLr{ksi

u dj.ks

(D) tkxfrd 'kkarrk

41. lkefjdn`"VÓk egRo vlysys pkcgkj gs {ks=

;sFks vkgs %

(A) bjk.k

(B) ikfdLrku

(C) vQxkf.kLrku

(D) vdlkbZ phu

42. >sifyu gs@gh %

(A) ifgY;k egk;qºk njE;ku fczVuus fodflr

dsysys gokbZ tgkt gksrs

(B) ifgY;k egk;qºk njE;ku teZuhus fodflr

dsysys gokbZ tgkt gksrs

(C) teZuhus okijysys U cksV gksrh

(D) vesfjdsph iksykfjl tkrhph ik.kcqMh gksrh
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43. BIMSTEC is connected to India’s :

(A) Policy towards Bangladesh

(B) Policy towards South

China sea

(C) Look East Policy

(D) Look West Policy

44. The World Bank, IMF and GATT/

WTO represent the following view-

point :

(A) Neo-Marxism

(B) Economic liberalism

(C) Idealism

(D) Realism

45. Quantum electronics helped the US

to monitor Soviet :

(A) Nuclear testing

(B) Electronic signals

(C) Troop movements

(D) Satellites

43. HkkjrkP;k lanHkkZr BIMSTEC ;k R;kP;k'kh

laca/k vkgs %

(A) ckaxyk ns'kk cjkscjps /kksj.k

(B) nf{k.k phuh leqÊkckcrps /kksj.k

(C) ywd bZLV /kksj.k

(D) ywd osLV /kksj.k

44. tkxfrd cWUd] vkarjjk"V™h; uk.ksfu/kh vkf.k

xWV@tkxfrd O;kikj la?kVuk gÓk [kkyhy

fopkjizokg n'kZforkr %

(A) uok ekDlZokn

(B) vkfFkZd mnkjhdj.k

(C) vkn'kZokn

(D) okLrookn

45. vesfjdsyk DokaVe bysDV™kWfuDl}kjs lksfOg,r

jf'k;kaP;k ·k œrh lanHkkZr y{k Bsork

vkys %

(A) vkf.od pkp.kh

(B) bysDV™kWfud flXuy

(C) lSU;kph gkypky

(D) mixzg
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46. The conflict in the Caucasus

between Russia and Georgia was

faught in the region of :

(A) Armenia

(B) Chechnya

(C) Ossetia

(D) Nagorno-Karabakh

47. India’s nuclear weapons programme

is :

(A) Uranium based

(B) Plutonium based

(C) Thorium based

(D) Heavy water based

48. The ‘Atom for Peace’ programme was

introduced in the U.N. General

Assembly by :

(A) Jawaharlal Nehru

(B) Eisenhower

(C) Nikita Krushchev

(D) Marshall Tito

46. jf'k;k vkf.k tkWftZ;k njE;ku dWdsf'k;l

e/khy la?k"kZ ·k {ks=kr ?kMyk %

(A) vkjesfu;k

(B) pspU;k

(C) vkslsfV;k

(D) ukxksuksZ&dkjkck[k

47. Hkkjrkpk vkf.od 'kL=kapk dk;Zÿe ·koj

vk/kkfjr vkgs %

(A) ;qjsfu;e

(B) IyqVksfu;e

(C) Fkksfj;e

(D) tM ik.kh

48. ^^'kkarrslkBh v.kq** gk dk;Zÿe la;qDr

jk"V™kae/;s ;kauh ekaMyk %

(A) tokgjyky usg:

(B) vk;lsugksOgj

(C) fufdrk ÿ'psOg

(D) ek'kZy VhVks
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49. ^^123 djkj** ·k lanHkkZr gksrk %

(A) Hkkjr-jf'k;k vkf.od lgdk;Z djkj

(B) Hk kjr-vesfjdk vkf.od lgdk; Z

djkj

(C) Hkkjr-IAEA njE;ku ukxjh vkf.od

izdYikackcr djkj

(D) Hkkjr-NSG njE;ku vkf.od ba/kukpk

iqjoBk dj.;kckcr djkj

50. TAPI gk xWl ikbiykbZu izdYi ·k ns'kka'kh

lacaf/kr vkgs %

(1) Hkkjr

(2) bjk.k

(3) ikfdLrku

(4) vQxkf.kLrku

(5) rqdZLrku

(6) rkf>fdLrku

mŸkj %

(A) dsoy (1), (3), (4) o (6) cjkscj vkgsr

(B) dsoy (1), (2), (3) o (4) cjkscj vkgsr

(C) dsoy (2), (3), (4) o (5) cjkscj vkgsr

(D) dsoy (1), (3), (4) o (5) cjkscj vkgsr

49. 123 Agreement refers to :

(A) India-Russia nuclear

cooperation agreement

(B) India-US nuclear cooperation

agreement

(C) India-IAEA agreement on

civilian nuclear facilities

(D) India-NSG agreement on

supply of nuclear fuel

50. The TAPI gas pipeline project

involves the following countries :

(1) India

(2) Iran

(3) Pakistan

(4) Afghanistan

(5) Turkey

(6) Tajikistan

Answer :

(A) Only (1), (3), (4) and (6) are

correct

(B) Only (1), (2), (3) and (4) are

correct

(C) Only (2), (3), (4) and (5) are

correct

(D) Only (1), (3), (4) and (5) are

correct
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